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How warm was it on Friday?

How many ° colder was Monday than Friday?

What can we  say about the temperature over the week?

What is the difference in temperature between Tuesday and Thursday?
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¾  of 32= 
What is a quarter of 32?

32 ÷ 4 = 8
Therefore ¼ of 32= 8

3 x 8 = 24

Therefore ¾  of 32=24



¾  of 44= 
What is three  quarters of 44?

44 ÷ 4 = 11
Therefore ¼ of 44= 11
3 x 11= 33
Therefore ¾  of 44= 33



4/6 of 72= 
What is four sixths of 72?

72 ÷ 6 = 12
Therefore 1/6 of 72= 12

4 x 12= 48
Therefore 4/6 of 72= 48



2/5 of 35=

First you must find 1/5 of 35
35 ÷5 = 7
Therefore 1/5 of 35 is 7

7 x 2= 
Therefore 2/5 of 35 is 14

14

14



Independent Task 
Please return in 20 minutes to the 

Teams call 



Plenary



Plenary


